an "7 oM R TR

— oo 9o By 730 1997 P
Just as the manner of ?9v is to grow on all water

OVERVIEW

There are two, three-year 2w¥n cycles in a v aw. The first and second years
as well as the fourth and fifth years of the nvnw cycle, 1w Wwyn is tithed
(after WX wyn). However on the third and sixth year of v nw there is no
1w Wyn, but rather "1y wyn is tithed. The years are counted from 7"7 to 7"
(except for trees whose 1" is ©V2w2 10). There is however a difficulty with
produce which began sprouting in one year (the second, for instance — the
year of "1» 7w¥n) and was harvested in the following year (the year of wyn
*1Y); which wyn is to be tithed (1w wyn or "1y wyn). The (general) rule is
that concerning grain they are tithed according to the first year in which they
grew a third (and by fruits we follow the 701m); however concerning 7 (and
NNR) they are tithed according to the year in which they were harvested
(1M nwph nvwa).

The X 13 explains that the reason the mawn states that an MINX is PPo MW
concerning Wwyn is because both M7NR and p7° grow o1 93 %Y, therefore
since by p7° the rule is 17wy NP2 NYwa the same applies to MINK.

— (@Y1, 91 NIYD YUNIT NNRP P99 U9 P97 RIYO

The reason that by p=° the 7wy cycle depends on when it was harvested is
explained in the first =2 of 77" noon -

— 5919 19931 1 1319 YWY 233 >2505 P29 11901

For concerning “wyn the 770 writes 3p" 7M3; the P19 states” 17187 12 1373,

etc. The w7 there is -
- smzww MY DY9UINN D 299 by DYV DTN aAPN M

" Grain and trees (generally) grow from rainwater (alone) they do not require additional irrigation. This is
referred to as o 217 ¥ 973 (they grow on most waters [they do not require all waters]). p7° (and 27NR)
however require additional irrigation besides rainwater. This is referred to as o' 93 2¥ 273 (they grow an all
waters; partial waters are insufficient).

17 is where the grains are gathered to be threshed; 27" is the pit where the wine enters after the grapes
have been crushed and became juice.

® The X3 in 7" actually cites the (3,50 [[1%7] 2°727) P05 of 2P M1 171 THOXA.

* The 109 in 19,7 (M2Ww) 12792 reads AP°7 1 XYM 1T 19 1372 2NN 032 awnn. The 109 is referring to
the 2wyn nmn which the 07 are required to give to the 0°173 from the 7wyn which the 07 receive from
DRI °12.

> The X7m derives this in 2,2° 7" from the (0, [72°Y] 2°127) P05 which states NI 92 02w Yaw ypn
N1207 A2 Avnw. WY,
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Just as 3p% 17 are singled out that they grow on 2°» 219 and are tithed

for the past year (the year in which they grew a third), so too any other produce
(including trees) which is 2% 2171 %Y 973 is 772vw 7w Wyny -

— 0% Y DY PITHIY MPI INYD
This excludes np=° which require 2% %3, they are not 77ayw 7w “wyny, but
rather their wyn is u°p nvwn.®

moon anticigates a question:
— 719291 XV 93 San 1222 VI TN 71):1‘1‘1)3 P9 YUYNT 2) DY NI

And even though that p9° "wy» is only J1297%, so how can we make a 712
2 for something which is only 113777 and not Xn»>xTA?!

mooin replies:
- IOV‘)\DWP: V99475 NIPN 13249 NI19NION

The 3229 supported their ruling based on a 195, as "2 explained.

In summation: (according to ['01M1] >"w) there is no real 7wA7 of 2™ 173 7n; it is merely
an XNDMOKR concerning P7° WYMY 12°R Ww¥n which are 112771, Concerning 12°X 2Wy» since it
is similar to 2P 7 (for they all are o°n 211 %Y 973) they are 712yw MWw? wynn; however
mpa which are o°n 93 9 973 are excluded from 2 1793 and are 1w PY Pywa “wynn (and
the same applies to 27NX concerning W¥» only). Concerning all other RN 7IXT issues
such as *¥27 797y and Ny aw the rule by 110X is like N39°X X that we follow the 7w,

modon offers an alternate explanation concerning the X 112:
— 119NN 11 P22 XNNY MOYOAVWY 193 1NN TUPNIT 123Y 1N ON W9 PNYY 1)%29)

And the v'""1 explained if the 2x 111 is inappropriate for ~wy»,'" apply the

aX 112 for nysaw which is applicable to P2 as well 7907 3%, The laws of
nyoaw apply to mpa° (and MIPR).

% One of the explanations given is that by produce which is o 21 9y 973, they are considered mature as
soon as they achieve a w>w (or 7uvin), for they will complete their growth without human intervention.
However those n7°0 which are o°n %3 ¥ 973 and need constant supervision and irrigation, their growth is
not assured until they are harvested.

" mooin (and others) maintains that 77107 72 only 777%™ w170 137 (grain, wine and olive oil) are "wyn1a 1nn.
Hence 12°k qwyn and P wy» are only 132777,

¥ A ax 112 is one of the ...70X 2127 X 1327 ...072 MWATI AMNAw MTn 3. If we find a ruling by a certain
situation we can apply it to other similar situations.

? The ax 132 cannot apply to either 17°X TWwyn or P> IWwyn since they are not Twy»2a 277 at all 77077 72. How
can the X3 state 121 270K AR "1 P An, when there is no “wy» 2111 by 7. Similarly how can the X3 in
71"7 use this 2K 7712 that IR are 712VW 7IWH MWYNR,

1953197 7"72. Here *"wA states that the Xn3n0oK is in regards to 12°X wyn which is 112972 In 7"72°"w1 7" 'on
79082 explains that (also) concerning NP this 717 is an XN2MOR.
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— PNYINA 122 P92 P2 RNMIINT MHNT P2 19390 YAV NINN NYIT 1097
For the main w97 of 121 2p” 1713 71 is concerning nSy°aw in regards to
», for the laws of n°yaw apply Xn»"Ix7T», both by »7° and by nu»x —

mooIn proves that Dy 2w 1s A by RDPNRTA PN '[77’&:
— 19297 12190 YUY TY NINN (3,0 41 DIYD YN 199INBNTI

As the X713 states in 7' n2on; ‘I am discussing 13197 9wy» which is only
332977 (for it is 12°R WynN) -

— NSNINT MY AT YAV Y NN
And you respond to me concerning nwsaw of “mw nua which is

NN9IR7. This proves that N°y°aw is applicable to Xn» R NIPKX.
— 5975 oy FHoN XINY 927 Y95 RIANDH RNSYNINT NWDT MP9 P N

And the same ruling applies to nmp9 that they too are presumably
considered Rn>MRTR N°v 2w just as anything else which is food and is

required to be guarded, etc. -
— 9919 *now5awa 191N Y93 (¢ nawn 1t pr9) POYIAY NIDNA INTI

As we have learnt in a mw» in noysaw noon; ‘there was a rule said

concerning nyaw, etc.’
— 0% 299 7Y PYTIV 2P 19 D19 MIRP 29

And this is what the X713 is stating; just as 2p% 3712 grow on (only) the

majority of waters -
— 9919 59 Or meraw 1235 19ayY 13v 9N 199N

And concerning ny 2w we follow the past year (when it grew 17173 w°5w),

similarly anything, etc. (which is o» 217 ¥ 973 [such as trees] we follow the past
year [the year when the fruit blossomed] concerning myaw). '

' The 1737 1M 170 P, from where we derive the aX 1712 of 21 7M1 127 7 (according to MBdOIN), iS
discussing ("wyni ) wyn, the X 12 is inappropriate for Twyn since both P and NIK are not 277
(XN MIXTM) "wyn3, therefore we apply the concept of 11y 1R o (that if a w7 is not appropriate for its own
context, it may be applied to another context).

12 1°2171 are carobs.

B mw nia is a certain type of (a white) fig tree

" The 11"27 nAa amends this to read ">9x'.

' This expression 121 1w Y2 X17w 23 is used concerning MAwy» 2. Others omit this word nwa.

' The mawn there reads: 121 NP¥*aw PATN NPw*aw 12 W 121 DR KRN RIAY 99 N°9°2wa MK 9173 93, Hence after
we know that mw niIa are XN™IRTA N°Y°awa 2707 it is understood that the rule of 2ox¥» Xw 93 is not limited
to 77" w17°n 137 but includes all 19>k and all NP7 in regards to N°y°2w.

' If the 127 grew a w*>w in the sixth year it is not n°y>aw M0 even if it was harvested n°v»awa. Similarly if it
grew a W LW in N°Yaw it is n°¥°2w M1 even if it was harvested n>rnw3a. The nvin by an 72°K takes the place
of 2173 w 5w by 17
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mooIn asks:
— PNYNYA XIPXTY Y00 Y3 5Y YW WINN 90T DY

And there is a difficulty; for there is 37nx which is 2o %5 % ®73 as it is

stated in our discussion here concerning 370X WYn -
— 10N AN THPY YAV PIYY 1PINRY NIYY 19299N 97 1929N)

And nevertheless the mi1wn states that an M7nX is similar to an 39°8 in

regards to nyoaw that we are to follow the 7win (where seemingly the nnx
should be like the 7 and it should follow 217° 217 [or 71v°p%] but not 7win)*.

N1B0IN answers:
— ZX91INY RPIT 13590 $PPAWY NVIN N2 N3 IPYIRT AT N9 Y NIYY

And perhaps one can say (that indeed the laws of 270X by n°y2w is like a
P (and it follows 217°3 211 [or 7v’P?], however) that which the miwn states
that by an 270X we follow the mwin concerning now 2w (like an 72°X) that is
specifically only if this will produce a stringency -

— Z5p3smwa vPYI MY VIN DN P
For instance if the 270X was ©in7 in the n*»saw year and was harvested on
the eighth year, then if we go solely according to the w27 of 2" 17 7», then this
3R will not be considered n°¥°2w N1’ since it was vp?1 (and had Y217°3 21) in the
eighth year. However, the 0°n2n1 were 7°nmn and decreed it n°y 2w m17°9 (even) if it was
only) my»awa vin, like other M1»°R.>

mooIn offers an alternate solution to °" wY°D:
— 0 95 HY D) NINNRT 2) DY GN 990 W 1) ON

Or one may also say; even though 390X is 29 95 Yy 973 like P, nevertheless

'8 However concerning mp1> which are o» %3 % 73 (not o» a1) we follow the 717°3 211 (see previous
AMINX 7"7 NvoIN). Once we have this 2X 112 concerning N°y°2w which is XN7K7, the 7127 used it for Wwyn
277 12°R which are 132772, Hence by 12°% wyn we follow the 1vin (as we do by n°y»aw) and by p7° wyn we
follow the 7v°P% (and not the 717°3 W 5w as it is by 137) just as the n°¥°aw 210 by P is different from 137.

1 This should indicate that concerning n°¥°aw the M7nX should be like P2 that 7173 211 ANk 771

%0 This question is only according to the *" w17 who maintains that the 717 of D 217 121 2P 703 2 is
referring to Ny aw, indicating that concerning n°¥>aw whatever is 0 93 2y 73 (including 7° and 2M1NR)
should follow 917°3 217 and not w°2w W27 (or 7wvin). However according to *"wA there is no real nwa7
(concerning n°y>2w) only an XN21MOX concerning Wwyn. Therefore it is understood that concerning n°y*2w the
ANX is considered an 17X,

*! There are differing opinions in the commentaries whether this is a X1 only 13277 or if it means even
RNMIIRTA (see "2 MR 7"210).

** Presumably this means that ¥217°3 211 was n°aw32 (see previous 270X 71"7 Moo footnote # 36).

» According to this answer the n°y»aw laws concerning 310X would be as follows. If it was n°wwa vin and
DWW T3 2 it is not MYAw MO even 132777, I it was DY w2 11703 21 NPWWA VAN it is XRNPIINTA NOYIAW.
If it was n°¥°awa vin and n°nw2 UPY7J1 YW T3 it is XK oveaw. If it was 1921773 27 DYYawa vIn
nornwa it is 1277 noyoaw. See “Thinking it over’ # 1.
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— YAV PPIYY MNIDIN IRY P 1PN 1Y PN

We cannot separate the 270X from the rule which applies to all other
trees concerning N waw, namely that we follow the **uan -

— TNYIN ANUN DNN INPYN XY S¥a9) NYIY PIyYT 119

Since concerning 7%y and °y29 the 7710 did not distinguish the »1nX

from the other trees, hence the same is by n°y>aw which is also a 7730 17 just as 727
WA —

mooIN anticipates the question; However there is the w7 that whatever is o' 92 5v 573
does not follow the 7011, so how can 270X follow the fwIn?! Moo replies:

— MINNY XYY NOX P 2P 9997 AV
And the w27 of 277 3793 which excludes o°n %5 ¥ 9737 from following the
mvin applies only for mp=° (that by them it is ?17°x 217 7n2) but not for
MANR, since by 7707 12 M0R we follow the 7vIn by 777 and *¥21 therefore we follow it
also by my»aw.”

— 9958 1NVPY 9NN D3N 1PN 13297 NYDY UM 19385 0PN Y9109
Nevertheless (even though concerning all Xn>»7X7T issues we follow 7w by
A7NX) concerning wy» which is 1397», the 2251 instituted that -=nN
YIROY NP -

— P95 0 Y5 Yy 1 HININ
Since the 30N is 2% ¥ Yy ©73 just like p°.

In summation: According to °"7 w17°0 the W27 of 121 2p7 173 A1 is a RPN AWIT
concerning n°y>aw. This teaches us that by ni2°X we follow the nvin and by NP7 we
follow 217°3 211. The 1321 then adapted this 7% for 131277 "wyn as well. Concerning 270K
myawa there are two views. A. That 2170X is like 273 and we do not follow the 7017 only
91773 211 (like Mp°) since it is a XK 7w7. However the 0onan were vann; if the 1vin
was n°yawa it is (still) considered (312771) Ny 2w Mmoo, B. That the Rn»™MX7A w7
concerning n°y"2w was only for NP7 and not 170X (for we already see Xn*XT» that by
AMINKR we go 1vIn N2 concerning 777V and *vaa).

nooIN asks:
— 0953 ONY9 1RV DINRDID 1HIND MIY NINRNY 22UN KD INHIN 9NN ON)

And if you will say; why does the 71w»n not mention that an »9nR is
similar to a tree (in an additional manner) concerning 0°X75; meaning that

* See “Thinking it over’ # 2.
* According to this answer by my>2w we always follow the v only, by all trees including M nK.
%% See ‘Thinking it over # 3.
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an MK tree is not 29892 if it is planted in a vineyard (as opposed to mp
which are 0122 2x92) -
— D997 YaAINA J9IND MYT AVUNI

And the m1wn should have counted that an 170X is 298% 7w in four ways
(not three).

N1B0IN answers:
— Zavrph 903 9999 Tnvan 9na 7905 19IRY MUY RYN 230 XY 1Y U

And one can say; the /mwn teaches only those things which the 270X is
similar to a tree in following the vin and similar to the P2 in following
the 7P, but not in other matters.

nooIN asks:
— AN PIYY 1D B9 YA DY MYY YN RY SN 9NN ON)

And if you will say; why does the 71w» not mention that an »70X is
similar to P9’ in two ways; the additional way will be concerning 718 -
— 4nN9 109 PRT BIWN ANIDA MINN 2990 NYT
That there is no obligation to leave over %% by an 390X since it is not
harvested as one; different 20X (from the same tree) are harvested at different
times. NM9OIN explains that NAXD VP2 has a bearing on 7R°D 2777 -
— AN INVIPY 1P¥2 DN PIYYT
Since concerning the 78°2 2111 there is the requirement of 718> INWPY -
= RN PPV YNN RNPYL NN

77 See w"x17 MO who writes 173 IPYINWRY KPR 2INKI MIMIY IPYIAWKY TAVER XY M1 VAN 79 PIwHT
MI?K RWD 70T N2 17187, The mawn teaches us if the 7vIn was in the third (or fourth) year, even if it was
harvested in the subsequent year it has a 17 of 777 (or *v2a).

¥ We find that (generally) by an 12X we go 7011 02 and by a 7v°p% 902 p; the 73wn teaches that an 270X
(even though it is a tree, nevertheless) sometimes it follows the 17’k and sometimes the p7°. [Alternately
MooIN may be saying that the 71wn mentions that an 270X is 12°82 MW (which seemingly is superfluous for
an MINR is an 17°R), only in regards that we go v 72 (this is considered somewhat of a w7°n since we
find that concerning “wyn the 210X is like the P7°). However all other areas where an 210X is 12°X? M are
not mentioned since [the issue of v’p? N2 P is inapplicable (such as by 0°%?3) and] there is no w17°n that
an 20K is 12°R? Mw. oo does not make this limitation, however concerning the ways in which an 270X
is p°2 mw; for any case in which an AKX is P2 MW is a WIT°n (since an MINX is a tree). This may remove
the difficulty presented in footnote # 30.]

¥ In the w"x"7 Moo this question (and the one following it) precede the previous question concerning
o°x?2. See following footnote # 30.

0 See *"n¥y (and X"w1am) who ask that according to n9oIN answer concerning 2°X>3, this and the following
question are already answered (for they do not deal with 770°p1 7v1m). See previous footnotes # 28 & 29.

! The mwn states in (7' X"2) Ax*0 N2on that 21 DPY 10219M) AR NP2 191 K9 KITW 92 XD 1K 992
7X%°02. The rule of NR3 NYP? excludes MNK and 21PH 102191 excludes P as MdOIN states shortly.
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And from this very reason we exclude figs from nx°s 211 since a 718D is not
TR 1NLPY, as the X3 states —

— (3, 97 2omos) IR 2IPR PUDAY (W’no 7 naw) DITH D9 PRD2

in ®173 ®92 pap and in A7 2% P95, The comparison to 7 is that -
— aNT RNIRTD 2MPNRT 27 D922 WIRT NATING IR PR M1 P
By p9° too the laws of nx°® do not apply, for P7° is not considered

something which keeps, as the X773 states there; vegetables cannot be kept for
a period of time before they spoil.

N1B0IN answers:
— ANYDA 1929N PRY KD MITIN XIINT 1193 999 Y

And one can say; since there are many other trees that are not 2%
IND2 -

— (n mwn /N pIn) AN N19012 0MWH 0529900 IND 19

For instance as MR and 2°31977 which are taught in the mwn» of x> noon-

— 2999 MY 2MNY TV NY

it is inappropriate to teach that MnX is P79 AW concerning x°s for it is

equally mw to trees concerning X2,
— 0591992 239D P NIY 9INRP KD 193 NNIYLY INNINM)

And for this very reason the 71wn also does not state that 20X is P 7w
concerning 2%712°2; they both are exempt from 2°1>°2. The reason the 71wn does not

mention this is -
— 99902 NHPNTI 12290 NYAWN NIN 091991 PNV

Since 237122 is brought only from the seven ‘kinds; as is mentioned in

50 -
$INYIN ANYY 933 MY )3 ON

If this indeed is the comparison to p7° it is equally comparable to all the
other trees that are not 2> nvawn.

SUMMARY

The MmwA7 of 121 77 71 and 27° 71 can be viewed as an Xn2>1OK since there is
no P PR Wwyn (O"wIo), or it is a g7MX IWIT concerning nvaw (O").
Assuming that it is a w77 concerning N°y 2w we can still maintain that 270X
follows Xmn> mvan, or that the w17 was only concerning mpa° and not
3R, The 71wn compares MINR to either 17°K or P7° only in regards to 7vif or

32 po217m 2K are (usually) translated as the sumac tree and carob tree respectively.
3% and 022177 are trees that are ;%02 217, The noon should be read, that there are many trees that are
not X521 271N as 0°217M AR are, but rather these other trees (including 2170X) are 7X°0n Q*7WL.
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70op?; therefore it does not mention 2°X72. It does not mention that it is like
P7° concerning 0°113°21 X0 for other trees share this trait as well.

THINKING IT OVER

1. According to the first y77°n on the °"1 (that we go 27NX2 7VIT N2 only
x1mn),>* why does the Xmx say that an MK is P2 M@ only AR 172
(concerning Wyn2 7vP? IN2) it is also P1? MW concerning Ny aw (if it was
nwwa van and NPy Awa (1211 97A) vPYI that it is P13 NYAw??

2. According to the >n1 °X of °mpoin what would be if an 3InNX was v
nwwa and nYawa vpol, is there a WY 21N since concerning N°YUAW we
follow the 7vin and the VI was NWW2A so it 1S not XN™IIRTA NP MI’D
(and they are Twyna 211n), or does the 131277 7 of 7Y P% N2 Wyn2 supplant
the X787 17 (for N°¥*aw M"d are Wwynn PNwo)21>’

3. If we maintain (according to the 1"X) that concerning all Xn>7IR7 2’7 we
follow 01 702 by an 370K, why did the 1121 change it concerning Wy
that we go "3 o°pY a2’

3 See footnote # 23.

¥ See T "y (TR K.
3% See footnote # 24.

37 See 'y MR 7"20 and vH MX "1
3 See footnote # 26.

¥ See "7 Mx 7"510.
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